3/MIE olo|X]|

MO
=o

=25

ks

m
K
o

o 0o
Bl
H~

A3JF{ A3 5F LIAFDIN 912

FH
=

T4y
.. il ol
Bool o
M 7
gl
H=s =

A
A

K0921

1/2

www.kipp.com - info@kipp.com

© HEINRICH KIPP WERK GmbH & Co. KG



[ ]
A El L [—
AEIMEE BE
=M
aD
G
l !
T [
n | |
C 0 =
b, | | =
| S
|
T T
L1 L
L3 L2
" .
41— : .
L\
JH J
== g9
AEIMEERE
FEHS B D G H H1 H2 H3 L L1 L2 L3 M N F T EF UNES; EbAd
N 7 LEAL Bt =2
Nm F1 2. N F2 2 N
K0921.06029 19 12 Méx10 35 29 15 17,6 38 13 8 15 M6x16 M6 4000 7,5 0 6
K0921.08037 22 16 M8x15 47 37 20 21,1 50 16 10 20 M8x20 M8 6000 14 0 7
K0921.12047 32 25 M12x20 57 47 27 28,3 75 25 15 30 M12x30 M12 9000 22 1 1
© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 2/2



